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Name: __________________________________



1
The expression [image: image1.png](2-347)



 is equivalent to
	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]4— 1207 + 92





	4)
	[image: image5.png]4— 12407 + 62







2
Simplify:  [image: image6.png](Nx - o fy)?





3
Simplify:  [image: image7.png](2Ja - B)(a + 2-/B)





4
Simplify:  [image: image8.png]




5
Simplify:  [image: image9.png]




6
Simplify:  [image: image10.png]




7
Express [image: image11.png]AJ1osety?




 in simplest radical form.

8
Simplify:  [image: image12.png]a | 18
x-y°






9
Simplify:  [image: image13.png]Nz +2ndab?





10
Simplify:  [image: image14.png]dax~J45 +ax~f20





11
Simplify:  [image: image15.png]J202° + J45a°





12
Express [image: image16.png]


 in simplest radical form.

13
Find the sum of [image: image17.png]


 and [image: image18.png]


.

14
Simplify:  [image: image19.png]3.J2422°)° + 1npaf22%y°





15
The expression [image: image20.png]dab {76 — tan] 1857 + Tabf6b



 is equivalent to
	1)
	[image: image21.png]2ab A6k





	2)
	[image: image22.png]V6ab 2k





	3)
	[image: image23.png]~Sab + Tabl6h





	4)
	[image: image24.png]Sabaf2b + Tab A6k







16
Simplify:  [image: image25.png]Noxt w182ty - a4 8y





17
The expression [image: image26.png]NG ENERNE



 is equivalent to
	1)
	[image: image27.png]amaf3 - ka2





	2)
	[image: image28.png]Imaf3 - 32





	3)
	[image: image29.png]m—caf2





	4)
	[image: image30.png]12m—kc~f6







18
Express [image: image31.png]yl3 - (324977 )



 in simplest radical form.

19
The legs of a right triangle are represented by [image: image32.png]


 and [image: image33.png]


.  The length of the hypotenuse of the right triangle is represented by
	1)
	[image: image34.png]Jatea





	2)
	[image: image35.png]




	3)
	[image: image36.png]NEP)






	4)
	[image: image37.png]






1
ANS:
3
REF:
061407a2

2
ANS:

[image: image38.png]



REF:
039309al

3
ANS:

[image: image39.png]' +4-fab —ab- 206




REF:
090404al

4
ANS:

[image: image40.png]



REF:
019911al

5
ANS:

1
REF:
089312al

6
ANS:

[image: image41.png]a?




REF:
099911al

7
ANS:

[image: image42.png]108%y° = 182y =y oy

6y’




REF:
011133a2

8
ANS:

[image: image43.png]&=y




REF:
069709al

9
ANS:

[image: image44.png](2b+ 1o




REF:
099511al

10
ANS:

[image: image45.png]Sax~ls




REF:
089312al

11
ANS:

[image: image46.png](2a+3a*)~f5a




REF:
119313al

12
ANS:

[image: image47.png]31t = 227 = 5afx? af37 = 20902 A3 = 5537 — 63037 = —xaf R





REF:
061032a2

13
ANS:

[image: image48.png](2a+3a*b)(~3a)




REF:
119209al

14
ANS:

[image: image49.png]442y [2zy




REF:
019111al

15
ANS:
4
[image: image50.png]Aabaf2b - 3a~9b? AJ2b + TabJ6b = dab~J2b - Sab~J2b + TabJ6b = ~5abA{2b + Tab-J6b




REF:
fall0918a2

16
ANS:

[image: image51.png](32 - %)
x - 2y%) . x+ 2y




REF:
069709al

17
ANS:
1
[image: image52.png]R N R NE) PR SV ERE W N




REF:
011710a2

18
ANS:

[image: image53.png]yod3-anf2-3paf3 = —apf3-4.2




REF:
081436ia

19
ANS:
1
[image: image54.png]- [x+ﬁ]z+[rﬁ]z:Ax’+zﬁx+z+x’—zﬁx+z:«2x’+4




REF:
011626a2


